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PL No. EF4 g R4 SAJ-NO
HE  REER BEEEs -A- -B- -C- -D- -E- REA B85 &5
1 No.151 TrE @A EER/NMNER Wit
36 636 155 155 165 185 165 485 1121 2260
365 654 165 155 165 165 155 485 1139
2 No.145 HE Hth EERINER i
32 492 165 15 17 17 165 50 992 1972
32.5 51 155 155 16 165 15 47 980
3 No.149 1€l Hing BEEXX—957 HE
32 492 17 165 17 175 165 505 997 197.1
315 474 165 17 17 165 15 50 974
4 No.148 Bk BB BiRR R /AR &E
315 474 155 155 155 17 155 465 939 1924
325 51 155 16 165 16 155 475 985
5 No.150 i BREE BERRF—H5T R
33 528 17 165 17 175 175 515 1043 18238
325 51 9 75 95 10 9 275 785
6 No.147 INR X B S vy TRKR—Y D EF E&
26 276 145 145 145 145 15 435 71.1 1404
255 258 145 145 145 14 145 435 693
7 No.144 @R BEX BEEXX—H57 HE
245 222 14 14 14 14 14 42 642 1312
25 24 14 145 145 14 145 43 670
8 No.141 Hx &5 BRABCYTF—L s
225 15 135 14 14 135 145 415 565 1184
24 204 135 14 14 135 145 415 619
9 No.142 =H = wEERNER s
19 24 135 135 135 135 14 405 429 876
195 42 13 135 135 135 14 405 447
10 No.146 = NI % KEES1=F7 o0 TH5T E&
175 -3 135 135 135 13 135 405 375 812
195 42 135 13 13 125 145 395 437
——DID NOT START(ZEHE)—— 1 Competitor(s)
No.143 FiRB R /NEIR wE 2 R ROUND 1
No.0ISQUALIFIED (%#&) —— 0 Competitor(s)
The Number of Entered Competitors (HIBEE) = 11
The Number of Started Competitors (HHFEH L) = 10
The Number of Qualified Competitors (SEEE ) = 10
2025/1/12/ KRB/ BEH Page=1
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